Key Word Transformation – Exercise 1

Complete the second sentence so that it has a similar meaning to the first sentence, using the word given in brackets. Do not change the given word. You must use between two to five words including the given word. You will find the key at the bottom of the page.


1. 1) It was the sculpture that interested Tom most at the exhibition.(FOUND)
Tom _________________________ most interesting part of the exhibition.
2. I'm sure you'll be amused by the latest Bond film (FIND)
I'm sure ____________________ the latest Bond film amusing.
3. Would the idea of going to a concert appeal to you (FEEL)?
How ______________________________  going to a concert?
4. There is both pop and jazz music on the programme (WELL)
The programme includes jazz _______________________ pop music.
5. According to the program, the show starts at 7.30pm (DUE)
The show ____________________________  start at 7.30 am.
6. The captain’s 's leadership probably saved the men's lives (WOULD)
Without the captain's leadership, his men _______________________ dead.
7. We very rarely go to the cinema these days (HARDLY)
We _____________________________________ to the cinema these days.
8. The opening night of the new film will probably attract a lot of people.(LIKELY)
The opening night of the new film ____________________ attract a lot of people.

















1) found the sculpture the; 2) you will find; 3) would you feel about; 4) as well as; 5) is due to 6) would have been, 7) hardly go; 8) will likely 
